
I.D.:	89197383

PACHET	MECANICA

Data
publicarii

09.11.23 Coduri	CPV 34913000-0

Pretul
estimativ:

6.705,28	RON	-	6.705,28	RON 	 	

Descriere: DISC	FR	U650-4B,SPUMA	IARNA-1B,COLIERE	PLASTIC-100B,ELECTROZI-2B,MANUSI-17B,CHEI
10MM-1B,DISC	230-13BSURUB	M16*140-40B,PIULITA	M16-93B,COPEX-3ML,CABLU	SUDURA	50-
100M,SURUB	M16*180-8B,SAIBA	PLATA	M16-8B,SAIBA	GROWER	M16-70B,DISC	230-10B,BUTUC-
2B,SURUB	M12*50-8B,SAIBA	GROWER	M12-8B,PIULITA	M12-8B,OGLINDA	U650-1B,CAMERA
600/650/16-2B,BANDA	REFLECTORIZANTA-6ML,SURUB	M10*70-7B,SURUB	M14*40-10B,SURUB
M8*80-30B,PIULITA	AUTOBLOC	M410-17B,PIULITA	M8-50B,SURUB	M12*25-8B,SURUB	M12*70-
20B,SURUB	M12*40-10B,PIULITA	AUTOBLOC	M12-30B,ELECTROZI-4.5KG,NIPLU	2	1/2-1B,SET
LAMPI	REMORCA-1B,FAR	ROTUND-2B,SUPERSOLUTIE-2B,PETIC	PP8-6B,PETIC	PP7-6B,MANUSI-
6B,VASELINA-2B,PIULITA	M20-6B,SPRAY	PORNIRE-1B,SURUB	M8*70-10B,PISTOL	CU
MANOMETRU-1B,TRUSA	ORING-1B,FILTRU	ULEI	LOGAN-1B,FILTRU	AER	LOGAN-1B,SURUB
M16*30-10B,PIULITA	AUTOBLOC	M16-10B,SURUB	M6*70-10B,PIULITA	M6-10B,SURUB	M8*60-
10B,SET	MANSON	RAD	APA-1B,SET	CONDUCTE	INJ-1B,NITURI	POP-100B,SPRAY	LAC-1B,SPRAY
VOPSEA-2B	BURGHIU	METAL	4-3B,TABLA	0.8-1B,CLESTE	NITURI-1B


